Addition table

Match up the grey colored squares to where they intersect each other . For example, 1+ 1=2.

If you line up the 1 from the top grey area with the 1 on the left grey area, the answer will intersect each other at 2.

+ 0 1 2 3 4 5 6 7 8 9 | 10
0 0 1 2 3 4 5 6 7 3 9 10
1 1 2 3 4 5 6 7 3 9 10 | 11
2 2 3 4 5 6 7 3 9 10 | 11 | 12
3 3 4 5 6 7 3 9 10 | 11 | 12 | 13
4 4 5 6 7 3 9 10 11 | 12 | 13 | 14
5 5 6 7 3 9 10 | 11 | 12 | 13 | 14 | 15
6 6 7 3 9 10 | 11 | 12 | 13 | 14 | 15 | 16
7 7 3 9 10 | 11 | 12 | 13 | 14 | 15 | 16 | 17
8 3 9 10 | 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18
9 9 10 ( 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19
10 | 10 | 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 | 20

www.thelearningpatio.com  © 2012




